Radioactivity and Nuclear Chemistry Part II
1- What is the correct name for the compound depicted in the skeletal structure below?
[image: http://jimi.cbee.oregonstate.edu/concept_warehouse/Pictures/201306031502528ec495adbcbb8f7a53cab4426c811cb1.JPG]
2- Which of the following is a structural isomer of 2-methylpentane? Choose from:
	cyclohexane

	2-methyloctane

	2,2-dimethylbutane

	3-ethylheptane

	n-butane


3- How many of the carbons in the molecule depicted below are chiral?
[image: http://jimi.cbee.oregonstate.edu/concept_warehouse/Pictures/2013060314550444dbf9788b100f09375c60d3a15fea6b.JPG]
4- What kind of reaction converts an unsaturated hydrocarbon into a saturated one? Choose from:
	substitution of a hydrogen with a halogen under high energy light

	a hydrogenation reaction in the presence of a catalyst

	addition of a halogen to an alkene

	combustion reaction with oxygen


5- How would the compound shown below be classified?
 [image: C:\Users\Elmer Oms\Videos\RealPlayer Downloads\Desktop\Desktop\Desktop\Desktop\aldehyde.jpg]
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